PN

MODEL YB24
YORK RAKES A ivision of ork MODERN CoRPORATION

PARTS LIST

P.O. Box 488, Unadilla, N.Y. 13849 Phone: 607-369-7111 FAX: 607-369-2625
Phone: 1-800-643-YORK E-mail; sales@yorkmodern.com Web: www.yorkmodern.com

Ref. No.

PO N ASCONOON AR WN A

10-14
15
16
17
18
19
20
21

PN 1-18,21
22
23
24
25

22-25
26
27
28
29
30

N/S
N/S
31
N/S
N/S
32
33
34
35
36
37
38

Form YB24P1

Part No.
09816100
PP4854
PP4853
09817300
PP5351
09835100
03230200
09835300
PF3561
09836410
09836310
09836420
PG3537
PF3599
09836500
09836310
09836320
PG3552
PP5391
PP5234
PP5151
PF3596
09835600
09856100
09856150
PP5359
PF3542
09856200
09876510
PP3181
09856500
PC3537
09876450
09824450
09825450
09856400
09855400
09854400
09856320
PF3536
PP5270
PU3104
09876640
PP2243
P13191

Model YB24 Parts List

Description
Female Arm
Clevis Pin
Clevis Pin Clip
Male Arm Only
Bent Pull Pin w/Cotter
Frame
Mast Arm
Upper Chain Link
Capscrew (1/2" x 3-3/4" NC); S/L Nut
Lower Chain Link
Transport Chain (48.00)
Depth Chain Bracket
Capscrew (3/8" x 1-1/2" NC); S/ Nut; F/W
Capscrew (7/8" x 3-1/4" NC); S/L Nut
Depth Chain Assembly Complete
Transport Chain (48.00)
Spring
Capscrew (1/2" x 1-1/2" NC); S/L Nut; F/W
Cat. | Drawpin
PTO Shaft and Cover
Key (1/4" sq. x 1-1/2")
Capscrew (1" x 5-1/2" NC); S/L. Nut
YB24 Frame Complete
Male Jack
Female Jack
Lock Pin 38H (3/8" x 3")
Capscrew (3/8” x 2-3/4" NC); S/L Nut
Storage Stands
Gear Box
Serrated Bolt (3/8" x 17)
Gear Box Cover
Capscrew (3/8" x 1-1/2" NC); F/W
Drive Shaft; 6
Drive Shaft; 4°
Drive Shaft; 5’
Drive Box Cover; 6
Drive Box Cover:; 5’
Drive Box Cover; 4’
Drive Box Cover Bracket
Capscrew (3/8” x 1-1/4" NC); S/L Nut
Pull Down Catch
Capscrew (#10 x 1/2” NC Sockethead); S/L Nut
Shaft w/Keyway (1" x 8")
Flange Bearing; 1"
Carriage Boit (3/8" x 1-1/2" NC); S/L Nut

All specifications subject to change without notice.

Required

(2)
(4)

(2)

AT,y T, Ty, p——,
NNNNRNN
S S e e gt g

(2)
(9)

(2)

10/30/03



